oottt obogdod

20150 60 17000 O ODOO 90O
—[O0Oo0obOooboboobooono —

oooooboobobooboooo.

4
an~(—v/3) 000000, in~'(cos =X\ oooooo.
(1) Tan (V) (2) Sin~" (cos
2
000 Tan 'z+Tan '= =2 goo.
3 Tan~* T 15 n
0ooooooooo.
—1
. €T . % 1 . tanx — Tan™ "z
R ®) Jple+e) O M

0000 (0000000)00000 0000000000, (9Yooooooooo)

(7) z= (x> 0) (8) Sin'vi—a22 0<z<1)
(9) z=tanhy 00000 y=g¢(x) 00000, 00000 ¢(z)02x00000.
(00000000 1—tanh?®y =

C%wyuuuu)

(10) 00 f(z)=a+Cos ' = (—2<x<2) 000000000

x
2
(11) boooooo (1,-3,2) 000000 (-4,0,3) D000000O000O0O0OOO

(12) n00D000 A=Jay] 0 a;; =iy 000000000 A%20 (4,7) 000 4,4,n000000
(000000000000 DO0ODOD0)

3 2 1 -1

0o A:[; _01 _12] B=|2 4 -2 2| 00000000000000000
-1 2 -3 0
(13) AB (14) B 'B*A (15) BOOOOO C

(16) ADDOOO DOOOO MA=DOOOO (000000)000000 M
(DDDDDDDDDDDDDDDDD)

0o 1DDDDDDDDDDDDDDDDD.DDD,(18),(20)DDDDDDDDDDDDDDD
D,DDDDDDDDDDDDDDD,DDDDDDDDDDDDDDDDDDD(:DDDDDD
DDD)DDDD.DD,DDDDDDDDS,t,...DDDDDDDD.
21‘1— .%'2—31‘3— .%'4:—3
(17) 1+ 220+ 3+ 2x4=1 goooooooooooooooooa.
—x1 +8x9 +9x3 + 8x4, = 9
(IS)DDDDDDDDDDDD.
1+ T2+ x3= 1
(19) 1+ 222 +3z3= 0 DaDDD) ooodooooboooo egoobooQg.
221 + 322 +ax3 =a—3
(20) (19)[|[|[|DCLDDDDDD,DDDDDDDDDDDD.



